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[Divisibility Rule - 2 ]

Underline the correct choice.

1) 456 2) 37
a) Last digit is an even / odd number a) Last digit is an even / odd number.
b) 456 is divisible / not divisible by 2. b) 37 is divisible / not divisible by 2.
3) 92 4) 108
a) Last digit is an even/ odd number. a) Last digit is an even / odd number.
b) 92 is divisible / not divisible by 2. b) 108 is divisible / not divisible by 2.
5) 225 6) 344
a) Last digit is an even / odd number. a) Last digit is an even / odd number.
b) 225 is divisible / not divisible by 2. b) 344 is divisible / not divisible by 2.
7) 70 8) 661
a) Last digit is an even / odd number. a) Last digit is an even / odd number.
b) 70 is divisible / not divisible by 2. b) 661 is divisible / not divisible by 2.
9) 483 10) 28
a) Last digit is an even / odd number. a) Last digit is an even / odd number.
b) 483 is divisible / not divisible by 2. b) 28 is divisible / not divisible by 2.
11) 59 12) 724
a) Last digit is an even / odd number. a) Last digit is an even / odd number.
b) 59 is divisible / not divisible by 2. b) 724 is divisible / not divisible by 2.
13) 986 14) 81
a) Last digit is an even / odd number. a) Last digit is an even / odd number.
b) 986 is divisible / not divisible by 2. b) 81 is divisible / not divisible by 2.
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